
A-A

A A
M 8WASHER M 8- A270.02000087212

M8NUT, HEX M8 - A260.0200008811

M8x20BOLT, HEX M8x20 - A250.12080201210

M8x16BOLT, HEX M8x16 - A250.120801689

M8x12BOLT, HEX M8x12 - A250.1208012448

 CC320 MAGNET ROD D34 NdFeBSECC32091677

 STICK. SECC ATEX  ll 1/2 D T130E000689416

 SECC CONTROL UNIT EX II 2DA14002215

 CC000 SLIDE RING EC1935A120689144

 RETAINING RING D65 CC000A120673143

 CHUTE CC3232A24050522

 CLEANFLOW CC3232A24050311

DimensionsDESCRIPTIONPART NUMBERQTYITEM

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

10-1-2017

A2

AvD

Description:

Date:

Drawn:

Extra info:

Auto cleaning - Continuous

 All rights reserved. Reproduction is not permitted without
written permission of GOUDSMIT Magnetic Systems BV

ISO268; ISO1101; ISO2553

ISO 2768- mK

SECC-3232-07S-N-Ex-F1E-L-B-B

Sheet:

Drawn according:

General tolerance:

SECC320201

Part number:

Spare part:

Weight (kg):

File number:
Quick search:

Status:

Customer reference number:

Cleanflow magnet static

-

False

145,5

Standard

SECC320201
CC3232

1

QTY MAT. NUMBER MAT. DESCRIPTION LENGTH (mm)

RAW

MAT.

WIDTH (mm)

Rev:

-

Rev:

REV DATE BY DESCRIPTION

-

10-1-2017 AvD REFERENCE DRAWING SECC320101

3604 x 90 = 

320

3
6
0

4
 
x
 
9
0
 
=

 

3
2
0

4
1
0

5
4
6

51210

7

8

1

243

9

11

400

4
3
0

2
5
0

1
5
0

3
0

1394 (C.T.C.)

1419

800

3
7
6

LIFTING EYE

   Ø13 (4x)

1370

120

1
2
0

160

1
6
0

1402 x 70 = 

1
4
0

2
 
x
 
7
0
 
=

 

8M  (16x)

8
M

 
(
8
x
)

6


